020224

E B Tate ) B 5 %

(GPA (BUfR Tl T H91E) (2 & & EFili = 327 )
GPA (B #EETl T 191E) &(F, A=4,B=3,C=2.D=1&L. COHRFICTHBI LD EMUZEFRL-L
DERFLTHREMTRLERT S,

FR4 EERWE -BHFEH FE 1 S2HH 54 A
BAED 7
FEIEDHIE (1.0~24|24 ~26/2.6~2.8|28~3.0[3.0 ~32(32~34(3.4 ~3.6/3.6~38|3.8~4.0
A 0 0 1 1 1 1 2 6 42
THI1/4I2ERET DA 13 A
THI1/4I2E% 5T HIEEO B 3911 AT

E B ate ) B 5%

[GPA (&I EME) (LK D EF % ENE]
GPA (R#ESIMT9E) &k, A=4.B=3.C=2.D=1&L. COMFICHB LD EMMERLT-D
DNERETLTRELMTRLERT S,

FR4 EERWE -BHFEH FE 2 PHH 51 A
BAED 7
FEZEDHIE (1.0~24|24 ~26/2.6~2.8|2.8~3.0[3.0 ~32(32~34(3.4 ~3.6/3.6~38|3.8~4.0
A 1 0 0 1 11 4 11 19 4
THI1/4I2ERET DA 12 A
THI1/4I2E% &9 HIEEOHUE 3.167 AT

E B e TR ) B 5 0%

(GPA (RUfR Tl T H91E) (2 & & EFili = 327 )
GPA (B #EETlI T 191E) &(F. A=4,B=3,C=2.D=1&L. COHFICTHBZ LD EMUBZEFRL-D
DERLTHREMTRLERT S,

=k e ITERIBHRFEH =k 1 PEHK 4 A
BAED 7
FEIEDHIE (1.0~24|24 ~26/2.6~2.8|2.8~3.0[3.0 ~32(32~34(3.4 ~3.6/3.6~38|3.8~4.0
A 0 0 0 0 0 0 0 1 3
THRI1/4IZERET DA 1T A
THI1/4123% &9 HIEEDOHIE 3776 HLUT

E B e TR ) B 5 %

(GPA (BUfR Tl T H91E) (2 & & EFili = 327 )
GPA (B #EETlI T 91E) &(F. A=4,B=3,C=2.D=1&L. COHFITHBI LD EMUBZEFRL-E
DERFLTHREMTRLERT S,

THI1/412832 5T DIEFEDORIE

2.959

Ilﬁ“u_F

FR4 ITERIBHRFEH FE 2 SFHH 5 A
BAED 7
FEIEDHIE (1.0~24|24 ~26/2.6~2.8|2.8~3.0[3.0 ~32(32~3.4(3.4 ~3.6/3.6~38|3.8~4.0
A 0 0 0 2 0 0 0 2 1
THRI1/4IZERET DA 1T A




BB Ta1=0) 5 /%

[GPA (REETE F1ME) (K HEFl%E K]
GPA (BEEMTENE) &L, A=4.B=3.C=2.D=1&L. COBFITRBCLOHEGEHERLCEL
NEETLTHREATRLEET S,

=k SE EXEML-ERRTEEH | 25 1 PHEHK 18 A
BAED 7R
FEIEDHIE |1.0~24(24 ~26(26~2.8|28~3.0(3.0 ~3.2/3.2~3.4|3.4 ~3.6{3.6~3.8[38~40
A% 1 1 2 1 0 1 3 7 2
THI1/4I2E T HAH 4 A
THI1/415% 2T HIEEDHE 2764 HLT

BB Ta1=0) 5 /%

[GPA (REETE F9ME) (KD EFl%E K]
GPA (BEEMTENE) &L, A=4.B=3.C=2.D=1&L. COBFITRBCLOHEGEHERLCEL
NEETLTHREATRLEET S,

FHA EXR-BFRRFTEFRH | 25 2 PHEH 14 A
BAED 7R
FEIEDHIE |1.0~24(24 ~26(26~2.8|28~3.0(3.0 ~3.2/3.2~3.4|3.4 ~3.6{3.6~3.8[38~40
A% 0 0 0 0 0 2 0 0 12
THI1/4125E T HAH 3 A
THI1/415% 2T HIEEDHE 3829 HLTF

BB Ta1=0) 5 /%

[GPA (REETE FME) (KD EFl%E K]
GPA (BEEEMTENE) &L, A=4.B=3.C=2.D=1&L. COBFICRBCLOHEGEHERLC=E
NEETLTHREATRLEET S,

FHA R5E-I—T T4V EH | 2& 1 PEH 26 A
BAED 7R
FEIEDHIE |1.0~24(24 ~26(26~2.8|28~3.0(3.0 ~3.2/3.2~3.4|3.4 ~3.6{3.6~3.8[38~40
AH 9 4 3 3 1 3 0 1 2
THRI1/4IZERETHAH 6 A
THI1/4I23% 5T HIEE DO HIE 2005 mUT

BB Ta1=0) 5 /%

[GPA (REET I FME) (K HEF %K)
GPA (&M TENE) &L, A=4.B=3.C=2.D=1&L. COMFICRBCLOHEGEHERLCEL
NEETLTHREATRLEET S,

FHA R5E-T—7 T4V T8 | 28 2 PHEH 15 A
BAED 7R
FEEEDHIE |1.0~24(24 ~26(26~2.8|28~3.0[3.0 ~3.2/3.2~3.4|3.4 ~3.6/3.6~3.8[3.8~40
AH 0 0 0 2 1 4 4 0 4
THRI1/4IZEETHAH 3 A
THI1/4I23% 5T SRR B 3146 BT




BB Ta1=0) 5 /%

[GPA (REET I FME) (KD EFl%E K]
GPA (BEEMTENE) &L, A=4.B=3.C=2.D=1&L. COMFITRBCLOHEGE#HERLC=L
NEETLTHREATRLEET S,

=k SE FI4RESHFREH SE 1 PHEHK 28 A
BAED 7R
FEIEDHIE |1.0~24(24 ~26(26~2.8|28~3.0(3.0 ~3.2/3.2~3.4|3.4 ~3.6{3.6~3.8[38~40
A% 1 0 1 0 2 3 5 5 11
THI1/4I2E T HAH 7 A
THI1/415% 2T HIEEDHE 3342 HLTF

BB Ta1=0) 5 T /%

[GPA (RIEETE FME) (KD EFl%E K]
GPA (BEEMTENE) &L, A=4.B=3.C=2.D=1&L. COMFICRBCLOHEGEHZERL=L
NEETLTHREATRLEET S,

FHA FI4RESHFREH =k 2 PHEH 10 A
BAED 7R
FEIEDHIE |1.0~24(24 ~26(26~2.8|28~3.0(3.0 ~3.2/3.2~3.4|3.4 ~3.6{3.6~3.8[38~40
A% 1 1 0 2 0 2 0 3 1
THI1/4125E T HAH 2 A
THI1/4125% 2T HIEEDHE 2438 HLT

BB Ta1=0) 5 /%

[GPA (REETE FME) (KD EFl%E K]
GPA (&M TENE) &L, A=4.B=3.C=2.D=1&L. COBFICRBCLOHEGEHERLCEL
NEETLTHREATRLEET S,

FHA ESRAWE -BHFH | 245 1 PEH 22 A
BAED 7R
FEIEDHIE |1.0~24(24 ~26(26~2.8|28~3.0(3.0 ~3.2/3.2~3.4|3.4 ~3.6{3.6~3.8[38~40
A 0 0 0 1 0 0 0 3 18
THRI1/4IZEETHAH 5 A
THI1/4I23% 5T HIEEDOHIE 3840 MUT

BB Ta1=0) 5 /%

[GPA (REET I FME) (K HEF %K)
GPA (&M TENE) &L, A=4.B=3.C=2.D=1&L. COMFICRBCLOHEGEHERLCEL
NEETLTHREATRLEET S,

FHA ESRAWE -BHFH | 245 2 PHEH 25 A
BAED 7R
FEEEDHIE |1.0~24(24 ~26(26~2.8|28~3.0[3.0 ~3.2/3.2~3.4|3.4 ~3.6/3.6~3.8[3.8~40
A 1 2 2 0 1 3 5 2 9
THRI1/4IZEETHAH 6 A
THI1/4I23% 5T SRR B 3058 mUT




BB Ta1=0) 5 /%

[GPA (REET I FME) (KD EFl%E K]
GPA (BEEMTENE) &L, A=4.B=3.C=2.D=1&L. COMFITRBCLOHEGE#HERLC=L
NEETLTHREATRLEET S,

=k SE ARVRE DR REH SE 1 PHEHK 22 A
BAED 7R
FEIEDHIE |1.0~24(24 ~26(26~2.8|28~3.0(3.0 ~3.2/3.2~3.4|3.4 ~3.6{3.6~3.8[38~40
AH 0 1 0 1 0 3 0 3 14
THI1/4I2E T HAH 5 A
THI1/415% 2T HIEEDHE 2731 HUTF

BB Ta1=0) 5 T /%

[GPA (RIEETE FME) (KD EFl%E K]
GPA (BEEMTENE) &L, A=4.B=3.C=2.D=1&L. COMFICRBCLOHEGEHZERL=L
NEETLTHREATRLEET S,

FHA ARVRED R REFH =k 2 PHEH 29 A
BAED 7R
FEIEDHIE |1.0~24(24 ~26(26~2.8|28~3.0(3.0 ~3.2/3.2~3.4|3.4 ~3.6{3.6~3.8[38~40
A% 9 1 2 0 0 3 0 1 13
THI1/4125E T HAH 7 A
THI1/4125% 2T HIEEDHE 2080 HLTF

BB Ta1=0) 5 /%

[GPA (REETE FME) (KD EFl%E K]
GPA (&M TENE) &L, A=4.B=3.C=2.D=1&L. COBFICRBCLOHEGEHERLCEL
NEETLTHREATRLEET S,

FHA BXAEFH = ak: 1 PEH 5 A
BAED 7R
FEIEDHIE |1.0~24(24 ~26(26~2.8|28~3.0(3.0 ~3.2/3.2~3.4|3.4 ~3.6{3.6~3.8[38~40
A 0 0 0 0 0 0 0 2 3
THRI1/4IZEETHAH N
THI1/4I23% 5T HIEEDOHIE 3702 HUTF

BB Ta1=0) 5 /%

[GPA (REET I FME) (K HEF %K)
GPA (&M TENE) &L, A=4.B=3.C=2.D=1&L. COMFICRBCLOHEGEHERLCEL
NEETLTHREATRLEET S,

FHA BXAEFH =k 2 PHEH 9 A
BAED 7R
FEEEDHIE |1.0~24(24 ~26(26~2.8|28~3.0[3.0 ~3.2/3.2~3.4|3.4 ~3.6/3.6~3.8[3.8~40
A 2 1 0 3 0 1 0 2 0
THRI1/4IZEETHAH 2 A
THI1/4I23% 5T SRR B 2071 AUTF




BB Ta1E0) 5 /%

[GPA (REETE FME) (KD EF %K)
GPA (BEEEMTENE) &L, A=4.B=3.C=2.D=1&L. COBFITRBCLOEGEHZERLEL
NEETLTHREBEATRLEET S,

=k SE EDRRASIEURER | 245 1 FAEH 4 A
BAED 7R
FEIEDHIE |1.0~24(24 ~26(26~2.8|28~3.0(3.0 ~3.2/3.2~3.4|3.4 ~3.6{3.6~3.8[38~40
A% 0 0 0 0 0 1 0 1 2
THI1/4I25E T HAH 1T A

ThL1/41252 59 HIEEF DO RIE 3208 mLLTF




